A040

A038 A039
A048 A049 A0S0
058 A059 AO60
A049 Fos
°ns @150 11.50 1.40
150 K 17 9150
8 178 17, . 10.70 ol
& NIN o 070 gil
3 @ © 1-12
-3954 o o of¢ =
[=] g
S E A 1-6 s 0 20,49
ok S g 010 1.5 4 =
N £ B
Qo150 345, 3.20 g S
37 R i
HP o S =
1100 1 20 = §
o
3 ®
o
b I
P FT50 0490 4 © g Lo
B B
o150 4.01 45 B o o
S
ol
= % ®
%023_85 n
- 150/ 14
26415 00 S 70 4.6,
°150 071 152 i g O
B & o150 170 W B
& N S
5 N
o 3 82 27 NS P
g g w S 38 o1 o
I3 ~ 2 —
. 2 & 58 ©200 9.20 1.gp N 0 0.9 O
8 ? ) Q 0] a,
o % 5 B bs :
@ 8 )
Q & by N N i [
! o NS 14 o x
i & ]
OLs - = | 2 ey
SKN\ 25987 hp o4 & °I50° 18.60 1g Y = x
K7\ 200.3.40] 4o 44 o ® 8 °150 2000 550 oINS g
° = 1p6- =2 2.20 N o N -
. 8 - o
T — 3 ] : x
- 7 3 o ‘
A (el J e 25k |k : 5 e
3 bk 3 - o] | g e 3 % 5 3.25
5 s 8 [N \] 8 s g8 & N ®
f N s °
o) o N = N N 5 3 1-2 % ~
&R o ~ 9 e
Iz o7 3 o 2 - o ®
"l e g Z
= ¢ 1.50
.86 7399
g Hp_©1500 0.20 %042 -3
y 145 x L B
: 5[149 * 11} =
b 8-8 v & 4 113 i
<t - » <
B Vi W50 g st o . °200 X=X
N g fixce S 27 H g : ]
N N ¥ - < ~ ¥ 3 i X
& g ] 2 8 ] O
m() 8 o ¥ ¥ © H S|
A, 8 H €, i g ; & -
M
TIRORE WS o 0 1.5 gt s @ oo
s =g : G -
04, iy
4 > g
ezzgz,g S o)
RS O N XX
Omyiate I
/ <
~ 8 8
2 ~ S
8 > < o
~ S Q S
% i .
S y
§ oI o
) P > s
- 5 0
. ®
2 g
105 %
27 a550 250 t g 2
212,61 1.06 H o
27434 2 N
L.06 HP @ IS]
27_431 250 4.90 g, o
1920435 4 0 N % o
27.507 o &
sa ®
© [N (g
S22 g&
RN 7 B
o
g °
al
: Y ®
S
®
R % =3
S %5 3]
= N ] °
I~ I
o e
Ol
= -
3| —— e
3
8 ©150 1550 160 MO
S N
- o &8 &
g ~
8} ¥ s °150 33.15 54,
S ] Y S 0200 13.30 1.93
g ) S - .
© = RS 3 %
®)-el. 21 ° ~ b ~
@
] E 1341%30% 27.08 2.0, = :\,C\’l h
o & 26.857 P{@)-1.34 HP ® B @)
< o == T326.7 50965 4 | £
; = 9 30. 56 7Y 0150 ».
by ) T 1.43 i o 2-80 2.7 C
) 54 1.67 O S|
o o Os LS N 1S 6-7
o & 8-29 < \ = / g
K N s fi S >
&3 S S & 5% 5|2l g o
- & = o e o [ s 5
2 s 4 3 S :
° 8 o o gl |8 [N ] .
5 g of€ 3 ] L 50 1425 5755
° < = o
DAY 29 N ° R -
o 5 5 g
& o o
8 F I
A 1.29 0] IS%)
VAL HP o P S|
A 27 250 &
-256 13.70% %} o ol
“22 45~ of~ o NS S —
27 55'}?2 N & s o
N @ . oo|N
27133 fp 30 alo o) N 2 .
TR kS < o % L
< ) BN 50 o
> 21~16 0200 £2.70 1.74 [M— S £ ol RN & —°
< Moo | 1.03 Vv © o /e o L
0 ZNS| 3 Nl =
932 2535 /8 b9 fieo i s % _
3
(@ 1.629766 HP ©250 7.6 o, ofS I 28, ©200 27.80 .18 i L
- ) < ® W0, ©150 29.50 1.7 —a
8.10 7 s N o0&
s0 0.00 § o >
ol o~ o o = = % "
* p N o ~
e i v 8 SRR o3 HP©250_13.g %07.07 1,77 = oS A\ —0n
a2 10-1 w1 [ o = o 71-1¢) 26.751 N o e : EGSM
2 t o 102 ||Z ¥ 522 D 8 = ® -
N i ) - L10-2 St - 2 —~N o S = g
N 3 < o 2= & 3 o o N
g g i S~ o 888 o g : 8
. 8 8 {
o © ° ° 64 02, 2 o w X © S Q9 - 24.70_2.45
S/~ 1.50 HP ®750 ¢J70 %o5. % %, °°°¢9 s q S o S 2.5 HP ©250 2.30% 24.70 2
SN 26.596 = %, g 8 J S/ g o @2 10-8G3) 38.666
N il 1.82 - < \ Q = 3g o d 38.906
wg %552 -2250_[2.60 8} 50 fp— KEN 9 ¢ SN S 8
oS 522 H-1G) |y o 2658 = 2 < — ¢ o |& A #
& N “" \ <2593 H e300 5 g, % 47. 05 Sl S =25 i
© @ ° o & -8 I3y ) y -39.75
a S 05 S 2 & 26_P0g O 1-6 3z 5 o
- N
S ® A . e 88, = SR 0163 g
of® @ |8 ) 2 o ° 85 g9 &l
sl e i ;3 © Q < oW 4 2
S o 2, g : 2 - 0046 27-8g*Hyg
» : : 37.33 4.38
2%’ 3 b e ®150
RS . A049
: P
100m A049
& 50 . | ’
40 | T
10 20 30 | : i
o | t t




